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Calculus

Derivative of  Hyperbolic functions: lecture 1

Sinha = ekze
Costin = e÷é

"

tannin

:i÷=÷÷=:::÷.



Cotten
= %!÷ =

:÷
= ::

Cosec hit = sinha = ehÉ
see hn

= coin = ea÷éⁿ



% sinha = ¥ (e÷é
"

)

= ± (e
"
- e-
" 1- D)

= £ (e" +é" )
= Costin

ad-nwshn-af.ie "
= e"+E



= e
"

= Sinha
Sinha = Costin

Costin = Sinhn

%
.

tank =

! (sign ) / tanna -- sectionlot hn
= - Cosectia

Cosec hit
= - losechm

Cothn

=
↳Shadd, lsinnn) - sinhr%%shña= - seemtanhn

-

= Gshn.Gshnw;nmSinhn-sinI



= www.n-asinti#--coj-nm--seIa
%
.

6th "
= % 1%1%1

=

"ⁿ

Sinha

= sinhn.sinhgnn-n.co#ohn



=

sinhyy.mn#ohk=-l::::-si*Ie=s%aa---Cose-h-.2n
%
•seen" ¥. = Him

"



=
tlsinnnj

' - '

¥ Sinha

=

- I HinhÑ? Gosha
=

,÷yy .

↳tha

=
.

a.GL?-=-Cosechnlothnsinhndd-nseehn--adgg,-nn=ad-nlcoshH"



- Costin)
-
' - '

d (Costin)
= In

=

- CoshD-
2

. Sinha

= j&?÷nn = - sechntanhn .


